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MATH 2E — MIDTERM

|- @ (10 points) Using the chs lange ol van ibles below, find the area of the region D
bounded by the ellipse ° — ay +y* = @ g
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MATH 2E — MIDTERM
2. 8 (10 points) Find [, F - dr, where

F(x,y,z) = {sin{y), (x cos(y) + cos(z)}, —ysin(z}}

C is the helix with parametric equations (include a picture of )
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MATH 2E — MIDTERM

3 - 2 (10 poins) Calculate

E is the solid in the region y > 0, inside 2% + y* + z°

f f / ey z
E

bl
= =4,

between z = — /¢ 4y and z = /22 4 ¢*, Include a picture of E.
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) MATH IE — MIDTLRM

f / ]E ;Zd.udyd:

F is the solid bounded by the cylinder 4% + =% = 9 and the planes z = 0,y =
3, z = 0, in the first octant. Include a picture of £.

4. % (10 points) Calculate

) pietwn

Y=0
 spwuEn =0
— — )(=
BLESEN /y//’{ — pe
- 3
. o <x < Y
2_) SHLEn < x & bEeEn =) X —

= LUAnIt Cinclg

(W€ 4242 =‘*)

E) Finv ©




é') | // ’ alxd‘ﬂliz __;{__=FCCJ'(Q)

[\

———

p]
T 3 rccsle)

ﬁf)jz 3 1 dxdrde

fv /3 2T (FC csl@)) ords
(fra) (7 )

THAe

2l [ ]



MATH 2E = MIDTERM

5. (10 poinrs) Find the (absoluie value) ol the Jacobian of the following change of

variables

y =psin(@) sin(0)

x =psin(¢) cos()
z =pcos(d)
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